
 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

SCR CLAMPS
Step 1:  Determine the clamp series by clamp load and SCR component 
size and then click profile picture.

 Clamp Load  
Max Allowable 
Component Size 

Bolt Hole 
Centers   

Product ID (lbs) (kg) 
Typical SCR 
Device Size 

(mm) 
(in) (mm) (in) (mm) Bolt 

Diameter 
Profile  
Image 

VE1000 700 - 1200 318 - 544 23 1.725 43.8 2.125 54.0 1/4" - 20 click here 
VE2000 1400 - 2400 635 - 1089 23 1.725 43.8 2.125 54.0 1/4" - 20 click here 
VE1272 1100 - 1600 499 - 726 23,33 2.350 59.7 2.750 69.9 1/4" - 20 click here 
VE2270 1800 - 2700 816 - 1225 23,33 2.350 59.7 2.750 69.9 1/4" - 20 click here 
VE2500 1400 - 2400 635 - 1089 33,38 2.575 65.4 3.100 78.7 3/8" - 24 click here 
VE3000 1800 - 3400 816 - 1542 33,38 2.575 65.4 3.100 78.7 3/8" - 24 click here 
VE3500 3000 - 4200 1361 - 1905 33,38 3.450 87.6 4.000 101.6 3/8" - 24 click here 
VE5500 4600 - 6400 2087 - 2903 33,38,50 3.450 87.6 4.000 101.6 3/8" - 24 click here 
VE3501 3000 - 4200 1361 - 1905 33,38 3.450 87.6 4.000 101.6 3/8" - 24 click here 
VE5501 4600 - 6400 2087 - 2903 33,38,50 3.450 87.6 4.000 101.6 3/8" - 24 click here 
VE3510 3000 - 4200 1361 - 1905 33,38 3.450 87.6 4.000 101.6 3/8" - 24 click here 
VE5510 4600 - 6400 2087 - 2903 33,38,50 3.450 87.6 4.000 101.6 3/8" - 24 click here 
VE6500 5000 - 6800 2268 - 3085 50,67 4.100 104.1 4.625 117.5 3/8" - 24 click here 
VE7500 6700 - 7800 3040 - 3538 50,67 4.100 104.1 4.625 117.5 3/8" - 24 click here 
VE6501 5000 - 6800 2268 - 3085 50,67 4.100 104.1 4.625 117.5 3/8" - 24 click here 
VE7501 6700 - 7800 3040 - 3538 50,67 4.100 104.1 4.625 117.5 3/8" - 24 click here 
VE6510 5000 - 6800 2268 - 3085 50,67 4.100 104.1 4.625 117.5 3/8" - 24 click here 
VE7510 6700 - 7800 3040 - 3538 50,67 4.100 104.1 4.625 117.5 3/8" - 24 click here 
VE9546 9000 - 11000 4082 - 4990 67 3.975 101.0 4.625 117.5 1/2" - 13 click here 
VE9555 9000 - 11000 4082 - 4990 67,77 4.850 123.2 5.500 139.7 1/2" - 13 click here 
VE1875 19000 - 21000 8618 - 9525 100 6.500 165.1 7.500 190.5 5/8" - 11 click here 



VE1000

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.375" (9.5mm) thick, in order to withstand the full 1200 lbs (544 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

1 2.125 54.0 0.750 19.1 2.750 69.9 0.750 19.1 0.281 7.1 Thru hole Aluminum Irridite
10 2.125 54.0 0.500 12.7 2.875 73.0 0.750 19.1 1/4 - 20 --- Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.

KJIHA

Z 1

(See Step 2)

Brace
Block

Step 3: Determine the bolt length based on the total Z dimension. Each bolt length has an allowable Z dimension found in the table below.
Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

0.800 1.175 20.32 29.85 2.00 50.80 VE1000-1020
0.900 1.425 22.86 36.20 2.25 57.15 VE1000-1022
1 150 1 675 29 21 42 55 2 50 63 50 VE1000 1025

Allowable "Z" Dimension
Allowable

Component Size 
Bolt Hole
Centers Bolt Length(in) (mm)Clamp Load

1.150 1.675 29.21 42.55 2.50 63.50 VE1000-1025
1.250 1.925 31.75 48.90 2.75 69.85 VE1000-1027
1.500 2.175 38.10 55.25 3.00 76.20 VE1000-1030
2.000 2.675 50.80 67.95 3.50 88.90 VE1000-1035
2.500 3.175 63.50 80.65 4.00 101.60 VE1000-1040

Step 5: Do you need Bolt insulation?
No = 0 and yes = 1

Step 6: Place your part number in this format.

VE1000 700 - 900
1000 - 1200

318 - 408
454 - 544

3°
4° 02 - "4/1527.132 2.12543.8 54.0

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2 50" 025

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE1000 - 1XXX -1 - 1

Bolt Diameter
1 = 1/4"-20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE1000 - 1XXX -1 - 1

Brace Block
0   = None
1   = Thru hole Style
10 = Threaded style

From Step 2

Bolt Insula�on
0 = None
1 = 1/4" Insula�on

From Step 5

Bolt Diameter
1 = 1/4"-20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3



VE2000

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.375" (9.5mm) thick, in order to withstand the full 2400 lbs (1089 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

1 2.125 54.0 0.750 19.1 2.750 69.9 0.750 19.1 0.281 7.1 Thru hole Aluminum Irridite
10 2.125 54.0 0.500 12.7 2.875 73.0 0.750 19.1 1/4 - 20 --- Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.

KJIHA

Z 1

(See Step 2)

Brace
Block

Step 3: Determine the bolt length based on the total Z dimension. Each bolt length has an allowable Z dimension found in the table below.
Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

0.650 1.020 16.51 25.91 2.00 50.80 VE2000-1020
0.900 1.270 22.86 32.26 2.25 57.15 VE2000-1022
1 150 1 520 29 21 38 61 2 50 63 50 VE2000 1025

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

1.150 1.520 29.21 38.61 2.50 63.50 VE2000-1025
1.400 1.770 35.56 44.96 2.75 69.85 VE2000-1027
1.650 2.020 41.91 51.31 3.00 76.20 VE2000-1030
2.150 2.520 54.61 64.01 3.50 88.90 VE2000-1035
2.650 3.050 67.31 77.47 4.00 101.60 VE2000-1040

Step 5: Do you need Bolt insulation?
No = 0 and yes = 1

Step 6: Place your part number in this format.

43.8 2.125 54.0 1/4" - 201.725VE2000 1400 - 1800
2000 - 2400

635 - 816
907 - 1089

3°
4° 23

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2 50" 025

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE2000 - 1XXX -1 - 1

Bolt Diameter
1 = 1/4"-20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE2000 - 1XXX -1 - 1

Brace Block
0   = None
1   = Thru hole Style
10 = Threaded style

From Step 2

Bolt Insula�on
0 = None
1 = 1/4" Insula�on

From Step 5

Bolt Diameter
1 = 1/4"-20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3



VE1272

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.375" (9.5mm) thick, in order to withstand the full 1600 lbs (726 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

2 2.750 69.9 1.000 25.4 3.500 88.9 1.000 25.4 0.296 7.5 Thru hole Aluminum Irridite
8 2.750 69.9 0.500 12.7 3.500 88.9 1.000 25.4 1/4 - 20 1/4 - 20 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.

KJIHA

Z 1

(See Step 2)

Brace
Block

Step 3: Determine the bolt length based on the total Z dimension. Each bolt length has an allowable Z dimension found in the table below.
Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

0.650 1.020 16.51 25.91 2.00 50.80 VE1272-1020
0.900 1.270 22.86 32.26 2.25 57.15 VE1272-1022
1 150 1 520 29 21 38 61 2 50 63 50 VE1272 1025

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

1.150 1.520 29.21 38.61 2.50 63.50 VE1272-1025
1.400 1.770 35.56 44.96 2.75 69.85 VE1272-1027
1.650 2.020 41.91 51.31 3.00 76.20 VE1272-1030
2.150 2.520 54.61 64.01 3.50 88.90 VE1272-1035
2.650 3.050 67.31 77.47 4.00 101.60 VE1272-1040

Step 5: Do you need Bolt insulation?
No = 0 and yes = 1

Step 6: Place your part number in this format.

59.7 2.750 69.9 1/4" - 202.350VE1272 1100 - 1300
1400 - 1600

499 - 590
635 - 726

3°
4° 23,33

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2 50" 025

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE1272 - 1XXX -2 - 1

Bolt Diameter
1 = 1/4"-20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE1272 - 1XXX -2 - 1

Brace Block
0   = None
2   = Thru hole Style
8 = Threaded style

From Step 2

Bolt Insula�on
0 = None
1 = 1/4" Insula�on

From Step 5

Bolt Diameter
1 = 1/4"-20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3



VE2270

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.375" (9.5mm) thick, in order to withstand the full 2700 lbs (1225 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

2 2.750 69.9 1.000 25.4 3.500 88.9 1.000 25.4 0.296 7.5 Thru hole Aluminum Irridite
8 2.750 69.9 0.500 12.7 3.500 88.9 1.000 25.4 1/4 - 20 1/4 - 20 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.

KJIHA

Z 1

(See Step 2)

Brace
Block

Step 3: Determine the bolt length based on the total Z dimension. Each bolt length has an allowable Z dimension found in the table below.
Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

0.488 0.863 12.40 21.92 2.00 50.80 VE2070-1020
0.738 1.113 18.75 28.27 2.25 57.15 VE2070-1022
0 988 1 363 25 10 34 62 2 50 63 50 VE2070 1025

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

0.988 1.363 25.10 34.62 2.50 63.50 VE2070-1025
1.238 1.613 31.45 40.97 2.75 69.85 VE2070-1027
1.488 1.863 37.80 47.32 3.00 76.20 VE2070-1030
1.988 2.363 50.50 60.02 3.50 88.90 VE2070-1035
2.488 2.863 63.20 72.72 4.00 101.60 VE2070-1040

Step 5: Do you need Bolt insulation?
No = 0 and yes = 1

Step 6: Place your part number in this format.

59.7 2.750 69.9 1/4" - 202.350VE2270 1800 - 2000
2300 - 2700

816 - 907
1043 - 1225

3°
4° 23,33

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2 50" 025

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE2270 - 1XXX -2 - 1

Bolt Diameter
1 = 1/4" - 20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE2270 - 1XXX -2 - 1

Brace Block
0   = None
2   = Thru hole Style
8 = Threaded style

From Step 2

Bolt Insula�on
0 = None
1 = 1/4" Insula�on

From Step 5

Bolt Diameter
1 = 1/4" - 20 Bolt

Bolt Length "XXX"
2.00" = 020
2.25" = 022
2.50" = 025
2.75" = 027
3.00" = 030
3.50" = 035
4.00" = 040
Custom = Please call

From Step 3



VE2500

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.375" (9.5mm) thick, in order to withstand the full 2400 lbs (1089 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

3 3.100 78.7 1.000 25.4 4.000 101.6 1.000 25.4 0.421 10.7 Thru hole Aluminum Irridite

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total Z dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block H dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

1.375 2.125 34.93 53.98 3.50 88.90 VE2500-2035
1.875 2.625 47.63 66.68 4.00 101.60 VE2500-2040
2.375 3.125 60.33 79.38 4.50 114.30 VE2500-2045
2 875 3 625 73 03 92 08 5 00 127 00 VE2500 2050

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

1400 1600 635 726 3° 2.875 3.625 73.03 92.08 5.00 127.00 VE2500-2050
3.375 4.125 85.73 104.78 5.50 139.70 VE2500-2055
3.875 4.625 98.43 117.48 6.00 152.40 VE2500-2060
4.375 5.125 111.13 130.18 6.50 165.10 VE2500-2065
4.875 5.625 123.83 142.88 7.00 177.80 VE2500-2070

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

65.4 3.100 78.7 3/8" - 242.575VE2500 1400 - 1600
2200 - 2400

635 - 726
998 - 1089

3°
4° 33,38

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE2500 - 2XXX - 3 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE2500 - 2XXX - 3 - 2

Brace Block
0   = None
3   = Thru hole Style

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3



VE3000

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.375" (9.5mm) thick, in order to withstand the full 1200 lbs (544 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

3 3.100 78.7 1.000 25.4 4.000 101.6 1.000 25.4 0.421 10.7 Thru hole Aluminum Irridite

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total Z dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block H dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

1.105 1.855 28.07 47.12 3.50 88.90 VE3000-2035
1.605 2.355 40.77 59.82 4.00 101.60 VE3000-2040
2.105 2.855 53.47 72.52 4.50 114.30 VE3000-2045
2 605 3 355 66 17 85 22 5 00 127 00 VE3000 2050

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

1800 1272 816 907 3° 2.605 3.355 66.17 85.22 5.00 127.00 VE3000-2050
3.105 3.855 78.87 97.92 5.50 139.70 VE3000-2055
3.605 4.355 91.57 110.62 6.00 152.40 VE3000-2060
4.105 4.855 104.27 123.32 6.50 165.10 VE3000-2065
4.605 5.355 116.97 136.02 7.00 177.80 VE3000-2070

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

65.4 3.100 78.7 3/8" - 242.575VE3000 1800 - 1272
3200 - 3400

816 - 907
1452 - 1542

3°
4° 33,38

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE3000 - 2XXX - 3 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE3000 - 2XXX - 3 - 2

Brace Block
0   = None
3   = Thru hole Style

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3



VE3500

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.500" (12.7mm) thick, in order to withstand the full 4200 lbs (1905 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

5 4.000 101.6 1.000 25.4 5.000 127.0 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
7 4.000 101.6 0.500 12.7 5.000 127.0 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

1.250 2.000 31.75 50.80 3.50 88.90 VE3500-2035
1.750 2.500 44.45 63.50 4.00 101.60 VE3500-2040
2.250 3.000 57.15 76.20 4.50 114.30 VE3500-2045

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

2.750 3.500 69.85 88.90 5.00 127.00 VE3500-2050
3.250 4.000 82.55 101.60 5.50 139.70 VE3500-2055
3.750 4.500 95.25 114.30 6.00 152.40 VE3500-2060
4.250 5.000 107.95 127.00 6.50 165.10 VE3500-2065
4.750 5.500 120.65 139.70 7.00 177.80 VE3500-2070

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

87.6 4.000 101.6 3/8" - 243.450VE3500 3000 - 3500
3600 - 4200

1361 - 1588
1633 - 1905

3°
4° 33,38

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE3500 - 2XXX - 5 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE3500 - 2XXX - 5 - 2

Brace Block
0   = None
5   = Thru hole Style
7   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3



VE5500

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.500" (12.7mm) thick, in order to withstand the full 6400 lbs (2903 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

5 4.000 101.6 1.000 25.4 5.000 127.0 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
7 4.000 101.6 0.500 12.7 5.000 127.0 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.500 3.250 63.50 82.55 5.00 127.00 VE5500-2050
3.000 3.750 76.20 95.25 5.50 139.70 VE5500-2055
3.500 4.250 88.90 107.95 6.00 152.40 VE5500-2060

Bolt Length

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm)

4.000 4.750 101.60 120.65 6.50 165.10 VE5500-2065
4.500 5.250 114.30 133.35 7.00 177.80 VE5500-2070
5.000 5.750 127.00 146.05 7.50 190.50 VE5500-2075
5.500 6.250 139.70 158.75 8.00 203.20 VE5500-2080
6.000 6.750 152.40 171.45 8.50 215.90 VE5500-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

87.6 4.000 101.6 3/8" - 24VE5500 4600 - 5400
5600 - 6400

2087 - 2450
2540 - 2903

3°
4° 33,38,50 3.450

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE5500 - 2XXX - 5 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE5500 - 2XXX - 5 - 2

Brace Block
0   = None
5   = Thru hole Style
7   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3



VE3501

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.500" (12.7mm) thick, in order to withstand the full 4200 lbs (1905 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

5 4.000 101.6 1.000 25.4 5.000 127.0 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
7 4.000 101.6 0.500 12.7 5.000 127.0 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

1.250 2.000 31.75 50.80 3.50 88.90 VE3501-2035
1.750 2.500 44.45 63.50 4.00 101.60 VE3501-2040
2.250 3.000 57.15 76.20 4.50 114.30 VE3501-2045

Bolt Length

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm)

2.750 3.500 69.85 88.90 5.00 127.00 VE3501-2050
3.250 4.000 82.55 101.60 5.50 139.70 VE3501-2055
3.750 4.500 95.25 114.30 6.00 152.40 VE3501-2060
4.250 5.000 107.95 127.00 6.50 165.10 VE3501-2065
4.750 5.500 120.65 139.70 7.00 177.80 VE3501-2070

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

87.6 4.000 101.6 3/8" - 24VE3501 3000 - 3500
3600 - 4200

1361 - 1588
1633 - 1905

3°
4° 33,38 3.450

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE3501 - 2XXX - 5 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE3501 - 2XXX - 5 - 2

Brace Block
0   = None
5   = Thru hole Style
7   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3



VE5501

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.500" (12.7mm) thick, in order to withstand the full 6400 lbs (2903 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

5 4.000 101.6 1.000 25.4 5.000 127.0 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
7 4.000 101.6 0.500 12.7 5.000 127.0 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.500 3.250 63.50 82.55 5.00 127.00 VE5501-2050
3.000 3.750 76.20 95.25 5.50 139.70 VE5501-2055
3.500 4.250 88.90 107.95 6.00 152.40 VE5501-2060

Bolt Length

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm)

4.000 4.750 101.60 120.65 6.50 165.10 VE5501-2065
4.500 5.250 114.30 133.35 7.00 177.80 VE5501-2070
5.000 5.750 127.00 146.05 7.50 190.50 VE5501-2075
5.500 6.250 139.70 158.75 8.00 203.20 VE5501-2080
6.000 6.750 152.40 171.45 8.50 215.90 VE5501-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

87.6 4.000 101.6 3/8" - 24VE5501 4600 - 5400
5600 - 6400

2087 - 2450
2540 - 2903

3°
4° 33,38,50 3.450

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE5501 - 2XXX - 5 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE5501 - 2XXX - 5 - 2

Brace Block
0   = None
5   = Thru hole Style
7   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block



VE3510

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.500" (12.7mm) thick, in order to withstand the full 4200 lbs (1905 Kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

5 4.000 101.6 1.000 25.4 5.000 127.0 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
7 4.000 101.6 0.500 12.7 5.000 127.0 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

1.250 2.000 31.75 50.80 3.50 88.90 VE3510-2035
1.750 2.500 44.45 63.50 4.00 101.60 VE3510-2040
2.250 3.000 57.15 76.20 4.50 114.30 VE3510-2045

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

2.750 3.500 69.85 88.90 5.00 127.00 VE3510-2050
3.250 4.000 82.55 101.60 5.50 139.70 VE3510-2055
3.750 4.500 95.25 114.30 6.00 152.40 VE3510-2060
4.250 5.000 107.95 127.00 6.50 165.10 VE3510-2065
4.750 5.500 120.65 139.70 7.00 177.80 VE3510-2070

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

87.6 4.000 101.6 3/8" - 243.450VE3510 3000 - 3500
3600 - 4200

1361 - 1588
1633 - 1905

3°
4° 33,38

Z 1

(See Step 2)

Brace
Block

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE3510 - 2XXX - 5 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE3510 - 2XXX - 5 - 2

Brace Block
0   = None
5   = Thru hole Style
7   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
3.50" = 035
4.00" = 040
4.50" = 045
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
Custom = Please call

From Step 3



VE5510

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.500" (12.7mm) thick, in order to withstand the full 6400 lbs (2903 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

5 4.000 101.6 1.000 25.4 5.000 127.0 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
7 4.000 101.6 0.500 12.7 5.000 127.0 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.500 3.250 63.50 82.55 5.00 127.00 VE5510-2050
3.000 3.750 76.20 95.25 5.50 139.70 VE5510-2055
3.500 4.250 88.90 107.95 6.00 152.40 VE5510-2060

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

4.000 4.750 101.60 120.65 6.50 165.10 VE5510-2065
4.500 5.250 114.30 133.35 7.00 177.80 VE5510-2070
5.000 5.750 127.00 146.05 7.50 190.50 VE5510-2075
5.500 6.250 139.70 158.75 8.00 203.20 VE5510-2080
6.000 6.750 152.40 171.45 8.50 215.90 VE5510-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

87.6 4.000 101.6 3/8" - 243.450VE5510 4600 - 5400
5600 - 6400

2087 - 2450
2540 - 2903

3°
4° 33,38,50

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE5510 - 2XXX - 5 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE5510 - 2XXX - 5 - 2

Brace Block
0   = None
5   = Thru hole Style
7   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block



VE6500

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.750" (19.05mm) thick, in order to withstand the full 6800 lbs (3085 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

6 4.625 117.5 1.000 25.4 5.625 142.9 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
9 4.625 117.5 0.500 12.7 5.625 142.9 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.250 3.000 57.15 76.20 5.00 127.00 VE6500-2050
2.750 3.500 69.85 88.90 5.50 139.70 VE6500-2055
3.250 4.000 82.55 101.60 6.00 152.40 VE6500-2060

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

3.750 4.500 95.25 114.30 6.50 165.10 VE6500-2065
4.250 5.000 107.95 127.00 7.00 177.80 VE6500-2070
4.750 5.500 120.65 139.70 7.50 190.50 VE6500-2075
5.250 6.000 133.35 152.40 8.00 203.20 VE6500-2080
5.750 6.500 146.05 165.10 8.50 215.90 VE6500-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

104.1 4.625 117.5 3/8" - 244.100VE6500 5000 - 5500
6200 - 6800

2268 - 2495
2812 - 3085

3°
4° 50,67

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE6500 - 2XXX - 6 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE6500 - 2XXX - 6 - 2

Brace Block
0   = None
6   = Thru hole Style
9   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block



VE7500

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.750" (19.05mm) thick, in order to withstand the full 7800 lbs (3538 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

6 4.625 117.5 1.000 25.4 5.625 142.9 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
9 4.625 117.5 0.500 12.7 5.625 142.9 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.000 2.750 50.80 69.85 5.00 127.00 VE7500-2050
2.500 3.250 63.50 82.55 5.50 139.70 VE7500-2055
3.000 3.750 76.20 95.25 6.00 152.40 VE7500-2060

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

3.500 4.250 88.90 107.95 6.50 165.10 VE7500-2065
4.000 4.750 101.60 120.65 7.00 177.80 VE7500-2070
4.500 5.250 114.30 133.35 7.50 190.50 VE7500-2075
5.000 5.750 127.00 146.05 8.00 203.20 VE7500-2080
5.500 6.250 139.70 158.75 8.50 215.90 VE7500-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

104.1 4.625 117.5 3/8" - 244.100VE7500 6700 - 7200
7200 - 7800

3040 - 3266
3266 - 3538

3°
4° 50,67

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE7500 - 2XXX - 6 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE7500 - 2XXX - 6 - 2

Brace Block
0   = None
6   = Thru hole Style
9   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block



VE6501

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.750" (19.05mm) thick, in order to withstand the full 6800 lbs (3085 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

6 4.625 117.5 1.000 25.4 5.625 142.9 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
9 4.625 117.5 0.500 12.7 5.625 142.9 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.250 3.000 57.15 76.20 5.00 127.00 VE6501-2050
2.750 3.500 69.85 88.90 5.50 139.70 VE6501-2055
3.250 4.000 82.55 101.60 6.00 152.40 VE6501-2060

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

3.750 4.500 95.25 114.30 6.50 165.10 VE6501-2065
4.250 5.000 107.95 127.00 7.00 177.80 VE6501-2070
4.750 5.500 120.65 139.70 7.50 190.50 VE6501-2075
5.250 6.000 133.35 152.40 8.00 203.20 VE6501-2080
5.750 6.500 146.05 165.10 8.50 215.90 VE6501-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

104.1 4.625 117.5 3/8" - 244.100VE6501 5000 - 5500
6200 - 6800

2268 - 2495
2812 - 3085

3°
4° 50,67

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE6501 - 2XXX - 6 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE6501 - 2XXX - 6 - 2

Brace Block
0   = None
6   = Thru hole Style
9   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block



VE7501

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Z 1

(See Step 2)

Brace
Block

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.750" (19.05mm) thick, in order to withstand the full 7800 lbs (3538 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

6 4.625 117.5 1.000 25.4 5.625 142.9 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
9 4.625 117.5 0.500 12.7 5.625 142.9 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Z 1

(See Step 2)

Brace
Block

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.000 2.750 50.80 69.85 5.00 127.00 VE7501-2050
2.500 3.250 63.50 82.55 5.50 139.70 VE7501-2055
3.000 3.750 76.20 95.25 6.00 152.40 VE7501-2060

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

3.500 4.250 88.90 107.95 6.50 165.10 VE7501-2065
4.000 4.750 101.60 120.65 7.00 177.80 VE7501-2070
4.500 5.250 114.30 133.35 7.50 190.50 VE7501-2075
5.000 5.750 127.00 146.05 8.00 203.20 VE7501-2080
5.500 6.250 139.70 158.75 8.50 215.90 VE7501-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

104.1 4.625 117.5 3/8" - 244.100VE7501 6700 - 7200
7200 - 7800

3040 - 3266
3266 - 3538

3°
4° 50,67

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Z 1

(See Step 2)

Brace
Block

Clamp series
From Step 1

VE7501 - 2XXX - 6 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block

Order number 
From Step 4

Clamp series
From Step 1

VE7501 - 2XXX - 6 - 2

Brace Block
0   = None
6   = Thru hole Style
9   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Z 1

(See Step 2)

Brace
Block



VE6510

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Brace
Block

Z 1

(See Step 2)

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.750" (19.05mm) thick, in order to withstand the full 6800 lbs (3085 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

6 4.625 117.5 1.000 25.4 5.625 142.9 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
9 4.625 117.5 0.500 12.7 5.625 142.9 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Brace
Block

Z 1

(See Step 2)

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.250 3.000 57.15 76.20 5.00 127.00 VE6510-2050
2.750 3.500 69.85 88.90 5.50 139.70 VE6510-2055
3.250 4.000 82.55 101.60 6.00 152.40 VE6510-2060

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

3.750 4.500 95.25 114.30 6.50 165.10 VE6510-2065
4.250 5.000 107.95 127.00 7.00 177.80 VE6510-2070
4.750 5.500 120.65 139.70 7.50 190.50 VE6510-2075
5.250 6.000 133.35 152.40 8.00 203.20 VE6510-2080
5.750 6.500 146.05 165.10 8.50 215.90 VE6510-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

104.1 4.625 117.5 3/8" - 244.100VE6510 5000 - 5500
6200 - 6800

2268 - 2495
2812 - 3085

3°
4° 50,67

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Brace
Block

Z 1

(See Step 2)

Clamp series
From Step 1

VE6510 - 2XXX - 6 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Brace
Block

Z 1

(See Step 2)

Order number 
From Step 4

Clamp series
From Step 1

VE6510 - 2XXX - 6 - 2

Brace Block
0   = None
6   = Thru hole Style
9   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Brace
Block

Z 1

(See Step 2)



VE7510

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Brace
Block

Z 1

(See Step 2)

Step 2: Do you need a Brace Block?
A backup brace block should be used when the mounting web of heatsink B is less than 0.750" (19.05mm) thick, in order to withstand the full 7800 lbs (3538 kg) clamp load.
If the answer is yes then pick your backup brace bar below and note it for step 6.

Brace Block
Item No. (in) (mm) (in) (mm) (in) (mm) (in) (mm) (in) (mm) Type Material Finish

6 4.625 117.5 1.000 25.4 5.625 142.9 1.000 25.4 0.437 11.1 Thru hole Steel Zinc/clear
9 4.625 117.5 0.500 12.7 5.625 142.9 1.000 25.4 3/8 - 24 3/8 - 24 Threaded Steel Zinc/clear

Step 3: Determine the bolt length based on the total "Z" dimension. Each bolt length has an allowable "Z" dimension found in the table below.
C l l t th t t l "Z" di i hi h i l d th SCR thi k h t i k A thi k h t i k B thi k d th b bl k "H" di i (f d i St 2)

KJIHA

Brace
Block

Z 1

(See Step 2)

Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness, heat sink B thickness and the brace block "H" dimension (found in Step 2)
then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 4: Determine the ORDER NUMBER based on the bolt length found in the last column in the table below and write it down for step 6.

Product ID (lbs) (kg)
Spring

Deflection
Degrees*

Typical SCR 
Device Size

(mm)
(in) (mm) (in) (mm) Bolt

Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.000 2.750 50.80 69.85 5.00 127.00 VE7510-2050
2.500 3.250 63.50 82.55 5.50 139.70 VE7510-2055
3.000 3.750 76.20 95.25 6.00 152.40 VE7510-2060

Allowable "Z" Dimension

Clamp Load Allowable
Component Size 

Bolt Hole
Centers (in) (mm) Bolt Length

3.500 4.250 88.90 107.95 6.50 165.10 VE7510-2065
4.000 4.750 101.60 120.65 7.00 177.80 VE7510-2070
4.500 5.250 114.30 133.35 7.50 190.50 VE7510-2075
5.000 5.750 127.00 146.05 8.00 203.20 VE7510-2080
5.500 6.250 139.70 158.75 8.50 215.90 VE7510-2085

Step 5: Do you need Bolt insulation?
No = 0 and yes = 2

Step 6: Place your part number in this format.

104.1 4.625 117.5 3/8" - 244.100VE7510 6700 - 7200
7200 - 7800

3040 - 3266
3266 - 3538

3°
4° 50,67

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060

Brace
Block

Z 1

(See Step 2)

Clamp series
From Step 1

VE7510 - 2XXX - 6 - 2

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Brace
Block

Z 1

(See Step 2)

Order number 
From Step 4

Clamp series
From Step 1

VE7510 - 2XXX - 6 - 2

Brace Block
0   = None
6   = Thru hole Style
9   = Threaded Style

From Step 2

Bolt Insula�on
0 = None
2 = 3/8" Insula�on

From Step 5

Bolt Diameter
2 = 3/8" - 24 Bolt

Bolt Length "XXX"
5.00" = 050
5.50" = 055
6.00" = 060
6.50" = 065
7.00" = 070
7.50" = 075
8.00" = 080
8.50" = 085
Custom = Please call

From Step 3

Brace
Block

Z 1

(See Step 2)



VE9546

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Step 2: Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness and heat sink B thickness.
Then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 3: Determine the ORDER NUMBER, based on the bolt length found in the last column in the table below, and write it down for step 5.

Allowable "Z" Dimension

Clamp Load Allowable
Component Size

Bolt Hole
Centers (in) (mm) Bolt Length

Product ID (lbs) (kg)

Typical
SCR

Device
Size
(mm)

(in) (mm) (in) (mm) Bolt
Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.800 3.700 71.12 93.98 9.00 228.60 VE9546-3090
3.800 4.700 96.52 119.38 10.00 254.00 VE9546-3100
4.800 5.700 121.92 144.78 11.00 279.40 VE9546-3110
5.800 6.700 147.32 170.18 12.00 304.80 VE9546-3120
6.800 7.700 172.72 195.58 13.00 330.20 VE9546-3130
7.800 8.700 198.12 220.98 14.00 355.60 VE9546-3140
8.800 9.700 223.52 246.38 15.00 381.00 VE9546-3150
9.800 10.700 248.92 271.78 16.00 406.40 VE9546-3160
10 800 11 700 274 32 297 18 17 00 431 80 VE9546 3170

Component Size Centers

101.0 4.625 117.5 1/2" - 13VE9546 9000 - 11000 4082 - 4990 67 3.975

10.800 11.700 274.32 297.18 17.00 431.80 VE9546-3170
11.800 12.700 299.72 322.58 18.00 457.20 VE9546-3180
12.800 13.700 325.12 347.98 19.00 482.60 VE9546-3190

Step 4: Do you need Bolt insulation?
No = 0 and yes = 3

Step 5: Place your part number in this format.

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13 00" = 130

Clamp series
From Step 1

VE9546 - 3XXX - 0 - 3

Bolt Diameter
3 = 1/2" - 13 Bolt

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13.00" =  130
14.00" =  140
15.00" =  150
16.00" =  160
17.00" =  170
18.00" =  180
19.00" =  190
Custom = Please call

From Step 2

Order number 
From Step 3

Clamp series
From Step 1

VE9546 - 3XXX - 0 - 3

Brace Block
0   = None

Block included in 
assembly

Bolt Insula�on
0 = None
3 = 1/2" Insula�on

From Step 4

Bolt Diameter
3 = 1/2" - 13 Bolt

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13.00" =  130
14.00" =  140
15.00" =  150
16.00" =  160
17.00" =  170
18.00" =  180
19.00" =  190
Custom = Please call

From Step 2



VE9555

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Step 2: Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness and heat sink B thickness.
Then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 3: Determine the ORDER NUMBER, based on the bolt length found in the last column in the table below, and write it down for step 5.

Allowable "Z" Dimension

Clamp Load Allowable
Component Size

Bolt Hole
Centers (in) (mm) Bolt Length

Product ID (lbs) (kg)

Typical
SCR

Device
Size
(mm)

(in) (mm) (in) (mm) Bolt
Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

2.800 3.700 71.12 93.98 9.00 228.60 VE9555-3090
3.800 4.700 96.52 119.38 10.00 254.00 VE9555-3100
4.800 5.700 121.92 144.78 11.00 279.40 VE9555-3110
5.800 6.700 147.32 170.18 12.00 304.80 VE9555-3120
6.800 7.700 172.72 195.58 13.00 330.20 VE9555-3130
7.800 8.700 198.12 220.98 14.00 355.60 VE9555-3140
8.800 9.700 223.52 246.38 15.00 381.00 VE9555-3150
9.800 10.700 248.92 271.78 16.00 406.40 VE9555-3160
10 800 11 700 274 32 297 18 17 00 431 80 VE9555 3170

Component Size Centers

VE9555 9000 - 11000 4082 - 4990 67, 77 4.850 123.2 5.500 139.7 1/2" - 13

10.800 11.700 274.32 297.18 17.00 431.80 VE9555-3170
11.800 12.700 299.72 322.58 18.00 457.20 VE9555-3180
12.800 13.700 325.12 347.98 19.00 482.60 VE9555-3190

Step 4: Do you need Bolt insulation?
No = 0 and yes = 3

Step 5: Place your part number in this format.

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13 00" = 130

Clamp series
From Step 1

VE9555 - 3XXX - 0 - 3

Bolt Diameter
3 = 1/2" - 13 Bolt

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13.00" =  130
14.00" =  140
15.00" =  150
16.00" =  160
17.00" =  170
18.00" =  180
19.00" =  190
Custom = Please call

From Step 2

Order number 
From Step 3

Clamp series
From Step 1

VE9555 - 3XXX - 0 - 3

Brace Block
0   = None

Block included in 
assembly

Bolt Insula�on
0 = None
3 = 1/2" Insula�on

From Step 4

Bolt Diameter
3 = 1/2" - 13 Bolt

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13.00" =  130
14.00" =  140
15.00" =  150
16.00" =  160
17.00" =  170
18.00" =  180
19.00" =  190
Custom = Please call

From Step 2



VE1875

<Back

 Power Solutions | 1700 Hicks Rd. Rolling Meadows, IL 60008                                                               Methode.com/power

Step 2: Calculate the total "Z" dimension, which includes the SCR thickness, heat sink A thickness and heat sink B thickness.
Then in the table below, find your calculated "Z" dimension in the Allowable "Z" dimension column to determine the correct bolt length

Step 3: Determine the ORDER NUMBER, based on the bolt length found in the last column in the table below, and write it down for step 5.

Allowable "Z" Dimension

Clamp Load Allowable
Component Size

Bolt Hole
Centers (in) (mm) Bolt Length

Product ID (lbs) (kg)

Typical
SCR

Device
Size
(mm)

(in) (mm) (in) (mm) Bolt
Diameter MIN. MAX. MIN. MAX. (in) (mm) Order Number 

3.000 4.250 76.20 107.95 9.00 228.60 VE1875-4090
4.000 5.250 101.60 133.35 10.00 254.00 VE1875-4100
5.000 6.250 127.00 158.75 11.00 279.40 VE1875-4110
6.000 7.250 152.40 184.15 12.00 304.80 VE1875-4120
7.000 8.250 177.80 209.55 13.00 330.20 VE1875-4130
8.000 9.250 203.20 234.95 14.00 355.60 VE1875-4140
9.000 10.250 228.60 260.35 15.00 381.00 VE1875-4150

10.000 11.250 254.00 285.75 16.00 406.40 VE1875-4160
11 000 12 250 279 40 311 15 17 00 431 80 VE1875 4170

Component Size Centers

VE1875 19000 - 21000 8618 - 9525 100 6.500 165.1 7.500 190.5 5/8" - 11

11.000 12.250 279.40 311.15 17.00 431.80 VE1875-4170
12.000 13.250 304.80 336.55 18.00 457.20 VE1875-4180
13.000 14.250 330.20 361.95 19.00 482.60 VE1875-4190

Step 4: Do you need Bolt insulation?
No = 0 and yes = 4

Step 5: Place your part number in this format.

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13 00" = 130

Clamp series
From Step 1

VE1875 - 4XXX - 0 - 4

Bolt Diameter
4 = 5/8" - 11 Bolt

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13.00" =  130
14.00" =  140
15.00" =  150
16.00" =  160
17.00" =  170
18.00" =  180
19.00" =  190
Custom = Please call

From Step 2

Order number 
From Step 3

Clamp series
From Step 1

VE1875 - 4XXX - 0 - 4

Brace Block
0   = None

Block included in 
assembly

Bolt Insula�on
0 = None
4 = 5/8" Insula�on

From Step 4

Bolt Diameter
4 = 5/8" - 11 Bolt

Bolt Length "XXX"
9.00"  = 090
10.00" =  100
11.00" =  110
12.00" =  120
13.00" =  130
14.00" =  140
15.00" =  150
16.00" =  160
17.00" =  170
18.00" =  180
19.00" =  190
Custom = Please call

From Step 2




